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COMPUTER SCIENCE
( General )

( Fundamentals to Computer Science )

»

Full Marks : 60

Time : 2% hours

The figures in the margin indicate full marks
for the questions |

Answer either in English or in Assamese

1. (a) State True or False : 1x5=5
RERCESIC VR C
(1 Algorithms must be written in a
high-level programming language.
=19’ JfANRETF high-level 2’1fR T
fett =mes |

(1) The base of all octal numbers is 16.
AP octal TIH BN TH 16.

(i) ROM is an example of auxiliary
Imemory.

ROM Z'& b auxiliary @99
TUTRA |
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(v) www is a type of LAN.
www 25 G3 AI99 LAN.

(vJ Operating system  makes it
convenient for the user to use the
machine.

G IR A wAER e
JRRBAET 3o I(E T |
(b) Answer the following questions : 1 x2=2
o PPTRY TeR ot ¢

() Convert (110110}, to its decimal
equivalent.

(110110), T wiIf¥F ¥ *f{TEH 3591 |

() Abbreviate ASCII and EBCDIC.
ASCII 5% EBCDIC T 9 ®1g{ fora1 |

2. Answer the following questions : 2x4=8
O] 2PIPTRY Ted fordl
(a) Draw the truth table of AND gate.
AND (553 3% SIfAFIR I |

(b} Distinguish between algorithm and
flowchart.

Q=19 RN I 701 N1 o |

(c/ Write down the De Morgan’s laws.

De Morgan 3 Sifeca2p! @37 |
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(d) Evaluate the following missing term :

&S fra FANFIE! 9of T4
(2B.C4)6 = (P10

3. Answer a.ny three questions : Ox3=135
& e Tofabt o Tay forar -

o

(a) Illustrate the necessity of memory unit
and I/O unit in a computer system.

AR 'R WD wWE 1[/0  3TfAGR
AT AT T

(b) Convert the Boolean  expression
F=x-y+x-z in the product-of-sum
(POS) form. -

©elq I BT POS I Folld I8 47

F=xy+x-2z

(c) Explain briefly two main functions of
operating system.

SACI0L BN 101 Y& NS I v IR
91 |

(d) Briefly explain e-mail and search engine
with examples.

e-mail ¥¥ search enginé 3 R 2(&;
THIRITR A7 31 |
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( 4 )

(e/ What is computer network? Explain
LAN and MAN in brief.

FHATHR (3¢ 52 LAN =i¢ MAN 3 Rarg
YL fordt |

4. Answer any three questions : 10x3=30

(a) Explain the meaning of various symbols
used in flowchart. Draw a flowchart

using the symbols to compute the area
of a triangle.

(b) Minimize the following  Boolean
expression using K-map :

Fix,y,2=X2(12 3,6, 7)

What is don’t care condition? How is it
treated?

OAq A q1M K-mapWﬁWW:
Fixy 2=2(,2,3,6, 7)

Don’t care condition Jfeics & T2 TR
CPCTLS Y] AT = ?
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(c) Construct a logic circuit for the Boolean
expression below using only NAND
gates :

F=A-B+C-(A+B-D)

G IAE M (91 NAND (916 9¢2S iR
AT T1 151 91
F=A-B+C-{A+B-D) o

(d) Explain various types of operating
system with examples.

Rfen we®: s Rs@ Owrzsess I
39! !

() Why do we need computer networks?
What are its advantages? Explain the
distinction between ordinary LAN and
wireless LAN.

FPATOR (oS [T A 7 W T 2
YRS LAN S¥ wireless LAN 3 °<(F I
391 |

(/) Write an algorithm to find average, min
and max of a list of numbers.

MR QI TP 9T, oy I FI Wl
TRILHA BT Garar =i foram |
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